
R
ev

. 0
.0

LAUMAS Elettronica srl • Phone: (+39) 0521 683124 • Fax (+39) 0521 681091
UFFICIO VENDITE ITALIA: commerciale@laumas.it • EXPORT SALES DEPARTMENT: sales@laumas.it

ISO 9001

ISO 14001 www.laumas.com

PV - PVZ

FTK - FTKL - FTP - FT-P - FTZ

kg

2000 FTK - FTKL - FTP - FT-P - FTZ 2.7 PV

2000 FTK - FTKL - FTP - FT-P - FTZ 2.7 PVZ

Up to 2000 kg application range

DESCRIPTION

MOUNTING KIT for SHEAR BEAM load cells

FOR LOAD CELLS

Load cell not included.

 Adjustable upper plate in AISI 304 stainless steel (PPV) or
galvanized steel (PPVZ).

 Lower plate and block in AISI 304 stainless steel (PV) or galvanized
steel (PVZ).

 Constraint against lateral forces and anti-tilt by AISI 304 stainless
steel (TFPV, TFPV2000) or galvanized steel (TFPVZ) self-centering
joint foot.

 Compensation for any misalignments of the support plates of the
structure.

 Adjustable height.

 Locking screw to avoid damage during transport and installation.

Series load cells:

CODEMAX STATIC LOAD NET WEIGHT (kg)



R
ev

. 0
.0

LAUMAS Elettronica srl • Phone: (+39) 0521 683124 • Fax (+39) 0521 681091
UFFICIO VENDITE ITALIA: commerciale@laumas.it • EXPORT SALES DEPARTMENT: sales@laumas.it

ISO 9001

ISO 14001 www.laumas.com

PV - PVZ

PIATF2000
PIATF2000Z

2x Ø12.5

15
15

10

BLOCTF
BLOCTFZ

PPV
PPVZ

PIATF2000/-Z

BLOCTF/-Z

load cell

*

PPV
PPVZ

1
18

60
PIEDINOSB2INOX
PIEDINOSB2ZNC
(M12 x 1.75)

Ø60

45
20

86

Ø60

17
50

92

PIEDINOSB2ZNC
M12x1.75

PIEDINOSB2INOX
M12x1.75

STRUCTURE

MOUNTING ANDPLACINGSTRUCTURE

STRUCTURE

mounting
surface

mounting
surface

POSSIBLEUPPERPLATEPOSITIONS

80

15

15 90

50

26

60

40

120

4x Ø13
Ø31.5

62.5

M6x12
8.
5

2

15

15

13010

80

10

4x Ø11

2x M12x1.75 (•)

A A

10

60
10

14.4 25 14

53.4

20

10

150

25 115

MOUNTING KIT for SHEAR BEAM load cells

 During the transport and installation the lock (*) must touch
under the load cell. After installation, move the lock away
from the load cell.

 Interconnect the plates to the earthing.

 In case of structure with four-point support, if one-point
does not touch the upper part of the mounting kit, you must
proceed to insert a shim before fixing the bolts.

 For the load cell fixing screws (•), provide a tightening
torque of 50 Nm for PV and 79 Nm for PVZ.

DIMENSIONS AND TECHNICAL SPECIFICATIONS

T h e  C o m p a n y  r e s e r v e s  t h e  r i g h t  t o  m a ke  c h a n g e s  t o  t h e  t e c h n i ca l  d a t a ,  d ra w i n g s  a n d  i m a g e s  w i t h o u t  n o t i c e.

FIXING TO THE WEIGHED STRUCTURE POSSIBLE UPPER PLATE POSITIONS


